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Better - - - - of your ceiling keeps your home warmer, 4. Children who have grown up in the age of technology
it also help you pay less heating bills. differ from their own - - - - in several respects.
A) solution A) peers
B) insulation B) society
C) contribution C) parents
D) construction D) teachers
E) consumption E) predecessors
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- - = - Numbers System is the numeral system that g 5. With an appropriate calculation, the company - - - -
consists of two symbols, 1 and 0. S 8% of their budget to human resources so that they
A) Maths ;,5) can hire more qualified architectures.
B) Binary % A) allocated
C) Digital g B) consumed
D) Coding 8 C) rented
(9]
E) Calculating D D) doled
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Mrs. Barclay killed her daughter and the jurry decided 6. According to the 8th article of the Universal

to put herin----.
A) jail

B) a castle

C) aresort

D) a house

E) the palace

Declaration Human Rights, people should not - - - -
anybody for doing something until it is proven.

A) clap

B) blame

C) decide

D) forgive

E) appreciate

http://odsgm.meb.gov.tr/kurslar/
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The policymakers had better take into consideration
the fact that the - - - - housing conditions impair the
life quality of people.

A) poor

B) cheap

C) private

D) located

E) available

- - - - energy is a type of energy that integrates a
renewable energy generation with a different energy
generation system.

A) Solar
B) Wind
C) Water
D) Hybrid
E) Bioenergy

Because the family showed greatly respect to the
grandmother, the newborn grandchild was - - - - her.
A) gotinto

B) made up for
C) named after
D) come up with
E) brought about
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10. Larissa must attemp to put a curb on her uncontrollable

-—
-—

temper. - - - -, she will lose lots of her friends.
A) Thus

B
C
D
E

) However
) Otherwise
) In addition
)

Even though

. The doctor promptly - - - - the underlying cause and

could effect a complete cure with a prompt treatment.
A) suffered
B) operated
C) expressed
D)

)

E

diagnosed
announced

12. Johann Wolfgang von Goethe’s novels was - - - - in

order to help readers to understand the old words.
A) emphasized

B) annotated

C) showed

D) realized

E) played

Cevap anahtarina ulasmak igin karekodu okutunuz.
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